















































109.

110.

‘111, -

112.

113.

114.

115.

116.

The turbine rotor weighing 9.8 kN rotates at 2000 rpm clockwise when looking from stern.
The vessel pitches with an angular velocity of 0.5 rad/sec. Calculate the gyroscopic couple
during the rise of bow. Assume radius of gyratinn of the rotor as 25.4 cm.

{(A) 6451.61 N.m : 6756.11 N.m

(C) 5404.89 N.m : (V) 8107.34 N.m

A crank of radius 12 cm is rotating at 60 rpm with an angular acceleratlon of 50 rad/sec?.
The tangential acceleration of the crank is ’
(AY 4,75 m/s? . B) 5.2m/s?

6 m/s? (D) 7.4 m/s?

ABCD is a mechanism with link lengths AB = 200 mm ; BC = 300 mm ; CD = 400 mm and
DA = 350 mm. Which one of the links should be fixed for the resulting mechanism to be a
douhle erank mechanism?

AB (B) BC
w) CD (D) DA

Which of the following systems has 8 links”
(A) Hart mechanism Peaucelliar mechanism
(C) Whitworth Quick return mechanism (D) Scotch yoke mechanism

Vuen the pitching motion causes the bow to rise, the rotor rotating in clockwise sense
(as seen from stern) the gyroscopic effect tend~ +~

(A)  turn the ship towards port side urn the ship towards star-board side
(C)  depress the stern ' {) raise the stern

When a four wheeler moving forward at a speed above critical takes a turn to the right the
wheel(s) that tends to leave the ground is
AN puter front wheel (B) outer rear wheel

both the inner wheels - (D) both the outer wheels

The frictional torque, transm1tted in case of flat pivot bearing for uniform pressure is equal
to if w = Total axial load , M= coefficient of friction, R= Radius of bearmg surface

(A) ,uwR ) —uwh

© awR | ® Liwr

The equivalent coefficient of friction for V threads is
(A)  equal to actual coefficient of friction
M less than actual coefficient of friction
greater than actual coefficient of friction
ws,  notrelated to the actual coefficient of friction
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170.

171.

173.

174.

176.

At normal atmospheric conditions, the ratio of the speed of sound in water to that in air is
about ‘

A 15 (B) 20
4.0 ‘ - (D) 70

The inverse of Specific Propellant Consumption (SPC) of rocket engine is called
(A) Impulse to Weight Ratio (IWR) Specific impulse
(C)  Thrust coefficient (L} Weight flow coefficient

An aircraft moves through the atmosphere with a velocity of 450 m/s. If the speed of sound
in this medium is 300 m/s, the mach angle would be

(A)  cos(2/3) : sin 1(2/3)

©  tan"}(2/3) (D) cos(3/2)

Which of the following has the lowest COP?
Vapour absorption cycle
(B)  Vapour compression cycle using dry compression
(C)  Vapour compression cycle with superheated vapour at the end of compression

(D)  Vapour compression cycle with sub cooling

It is desired to condition the outside air from 70% RH and 45°C DBT to 50% RH and 25°
DBT at room condition. The practical arrangement would be

Cooling and dehumidification (B) Cooling and humidification
(C) Heating and dehumidification (D) Heating and humidification
Dry ice is
(&)  Ice free from water (B) Ice free from dissclved air or gases

(C)  Ice prepared from filtered water Solid carbon dioxide

The Refrigerant R — 718 is _
{4y Ammonia - _ Water
(Cy Air : (L)  Carbon dioxide "
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